
UNI-T
Systems

installation guide
effective June 4th 2015

UPDATED - May 1st 2018



3
3

6

4
5

 

8

9

10

7

12

Installation Guideuni-t - SYSTEMS

2 LW584-A-REV.05-2018

installation on a panel

metal legs positioning
monolithic laminate base positioning

attach a panel to a pedestal support

lower bracket adjustment
mteal support  and alignment stopper installation

installation on a base panel

installation on top of a panel

installation on top of a panel

attach a panel to a laminate epdestal or storage

D-SHAPED TABLES	

28" H. SUPPORTS	

METAL PEDESTAL SUPPORT	

BRACKET KIT FOR LAMINATE PEDESTALS AND STORAGE	

STABILIZING FLOOR BRACKET KIT	

SHARED STORAGE - OPEN OR WITH SLIDING DOORS	

PRIVACY SCREENS	

SLIDDING DOORS	



9"

X

X

Installation Guideuni-t - SYSTEMS

3LW584-A-REV.05-2018

D-SHAPED TABLES - METAL LEGS                                                                                          Price List p.98 to 100.

4" METAL TUBULAR LEGS WITH OR WITHOUT BASE PLATE
• Use position marks. 

2½" ROUND TUBULAR METAL LEG
• Use position marks. 

2½" SQUARE TUBULAR LEG
• Use position marks. 

(1) LEG W / WITHOUT BASE PLATE

D-SHAPED TABLES - MONOLITHIC LAMINATE BASE                                                                         Price List p.101.
POSITIONING
• Center monolithic base under the table. 
• Position the base 9" from the edge.
• Screw into place.

(2) TUBULAR LEGS

(2) TUBULAR LEGS

(1) TUBULAR LEGS

MONOLITHIC LAMINATE BASE



Installation Guideuni-t - SYSTEMS

4 LW584-A-REV.05-2018

28" H. SUPPORTS - COMBINED MATERIAL or PERFORATED METAL                                            Price List p.109.

LOWER BRACKET ADJUSTMENT

COMBINED MATERIAL
(metal/laminate)

PERFORATED METAL LEG

TOP
BRACKET

LOWER
BRACKET

COMBINED MATERIAL 
(metal/laminate)

PANEL

LOWER BRACKET

Step 1

• Unscrew the lower bracket screws.

Step 2

• To attach the supprot to the panel, insert top hooks towards bottom 
  while inserting lower hooks into the panel connector. 

Step 3

• Lift-up the lower bracket to secure the leg and tighten the screws.

TOP
HOOKS

LOWER
HOOKS

PANEL



Installation Guideuni-t - SYSTEMS

5LW584-A-REV.05-2018

28" H. SUPPORTS - OPEN METAL SUPPORT                                                                            Price List p.109-110.

ALIGNMENT STOPPER AND LEG LOCK INSTALLATION

Step 2

• Insert the leg lock into the panel connector.

HALF SUPPORTFULL END PANEL

Step 1

• To maintain the vertical alignment of the support, attach the alignment 
   stopper (using the double sided tape provided) on the side of the metal 
   support, flush with the bottom. Not required with two side-by-side 
   metal supports.

• Hook metal support into the panel.

ALIGNMENT STOPPER

SELF-TAPPING SCREW
#6 x 1/2"

LEG LOCK

ALIGNMENT STOPPER

Step 3

• Use the self-tapping screw to fix the leg lock into place.  
  The lock prevents leg from unhooking.

SELF-TAPPING SCREW

LEG LOCK



Installation Guideuni-t - SYSTEMS

6 LW584-A-REV.05-2018

BRACKET KIT FOR LAMINATE PEDESTALS AND STORAGE		                                          Price List p.112.

WOOD SCREW

Step 1

• According to the configuration of the workstation, hook bracket LEFT 
  or RIGHT to the panel connector.

• Place pedestal or storage close to the bracket and level. 

• Make a position mark on the pedestal or storage at the top of 
  the bracket.

Step 2

• Use the wood screws to attach the bracket to the back of the 
  pedestal or storage, according to the position mark.

ATTACH A PANEL TO A LAMINATE PEDESTAL OR STORAGE

Step 3

• Place pedestal or storage close to the panel and insert bracket hooks
  into the panel connector.

BRACKETS



Installation Guideuni-t - SYSTEMS

7LW584-A-REV.05-2018

STABILAZING FLOOR BRACKET KIT                                                                                                  Price List p.111.

METAL CAP

    BOLT

SELF-TAPPING SCREW

Step 2

• Use self-adhesive strips (3) to install the metal caps onto the 
  stabilizing foot.

Allows for 2½" H. 
adjustment at 
installation.

INSTALLATION ONTO A BASE PANEL

SELF-ADHESIVE
STRIP

PROTECTING GLIDE

NUT

STABILIZING FEET

LOCK RING 

Step 1

• Install the bolts, lock rings and nuts through the panel connector. 
  Adjust height and tighten. 

• A self-tapping screw must be install on each side (at the bottom of the 
  feet, slotted hole) to lock stabilizing foot onto the base panel.



Installation Guideuni-t - SYSTEMS

8 LW584-A-REV.05-2018

Step 1

• Place storage unit on top of the panel.

SHARED STORAGE - OPEN or WITH SLIDING DOORS                                                            Price List p.113-114.

N2 SERIES
ROUNDED SUPPROTS

N7 SERIES
SQUARE SUPPORTS 

INSTALLATION ON TOP OF A PANEL

WITH SLIDING DOORS8" or 16" H. OPEN

Step 2

• Insert the supports into the panel connector and attach them 
  under the storage unit using the bolts.

TOP CAP

PANEL

BOLT

SUPPORT

Step 3

• For a end-to-end installation, use junction plates under the storage units.

JUNCTION PLATE

WOOD SCREW



cL

cL

Installation Guideuni-t - SYSTEMS

9LW584-A-REV.05-2018

Step 1

• Remove the panel top cap.

PRIVACY PANEL                                                                                                                                  Price List p.119.

TOP CAP

FULL LENGTH RAIL

PANEL

• Mark the position of the holes at the bottom of the full length 
  rail onto the panel top cap. 

Step 2

• Place full length rail of the privacy screen on the top cap.

Step 3

• Drill 3/16" diameter holes onto the panel top cap.

TOP TRIM

INSTALLATION ON TOP OF A PANEL

 Must be centered in the 2 axis

TOP CAP

16" or 8" H. PRIVACY PANELS



1/4"

1/2"

N2

N7

Installation Guideuni-t - SYSTEMS

10 LW584-A-REV.05-2018

Step 5

• Attach the full length rail with the panel top cap and plastic  
  clips on top of the panel using the 2½" long wood screws.

Step 4

• Remove the black plastic clips from the panel
	 • N2 : Install them onto the top cap, in line with each hole.
	 • N7 : Install clips provided with the screen onto the top cap, 
	           in line with each hole.
• There must be one clip per hole.

TIGHTENING 
SCREW

PRIVACY SCREEN
(glass or acrylic)

PLASTIC CLIP

Additionnal plastic clips can be supplied with the privacy screen hardware.

Step 6

• Insert the privacy screen into the full length rail.  
• Tighten the tightening screws to secure in place.

WOOD SCREW

PRIVACY SCREENS (cont'd)                                                                                                               Price List p.119.

INSTALLATION ON TOP OF A PANEL

VERTICAL ALIGNMENT (if necessary)

• Cut self-adhesive strips (1/4" wide).

• Place the self-adhesive strips onto the privacy screen:
  at each ends in line with the tightening screws.

SELF-ADHESIVE 
STRIP

AT THE TOP

SELF-ADHESIVE STRIP

SELF-ADHESIVE 
STRIP

AT THE BOTTOM

CAP



Installation Guideuni-t - SYSTEMS

11LW584-A-REV.05-2018

Step 1

• Screw the top trim caps to each end of the cover on the top of the  	
   sliding door. (10-24 x1/2'' screws)

TOP TRIM CAP ASSEMBLY

SLIDING DOORS                                                   			                                  Price list p.35 and 57.

left end cap

right end cap

B- Insert the cap and screw into place.A- Top door cover.



41/2''

Installation Guideuni-t - SYSTEMS

12 LW584-A-REV.05-2018

SLIDING DOORS	                              Price list p.35 and 57.

left guide right guide
LOWER GUIDE ASSEMBLY

A- The position of the guide determines the direction the door opens.

Step 2

• Screw the left OR right guide into the bottom of the Unit panel 
  connector. (5/8'' self-drilling screws)

left guide

opening of the door towards the right
right guide

opening of the door towards the left

D- Screw (without tightening) the   	
     guide onto the connector.

B- Uni-T panel connector. C - Position the guide approximately  	
      onto the connector.



Installation Guideuni-t - SYSTEMS

13LW584-A-REV.05-2018

SLIDING DOORS                             					                                    Price list p.35 and 57.

Step 4

• Place the door between the guides.
   If required, adjust the lower guide and screw in tightly.

Step 3

• Insert and screw the upper guide into the Uni-T panel connectors.
  (8-32 x 5/16'' screws)

UPPER GUIDE ASSEMBLY

A- Insert the guide into the 3 attachment  	
     slots at the top of the connectors.

B- Insert a bar of the attachment into the connector and screw to the guide. 	
     Repeat at the other end of the guide.

PLACEMENT OF THE DOOR

Lower guide



Installation Guideuni-t - SYSTEMS

14 LW584-A-REV.05-2018

SLIDING DOORS                             Price list p.35 and 57.

Step 5

• Screw the trim caps into each end of the bottom of the sliding door.     
  (10-24 x1/2'' screws)

Step 6

• Screw the nylon washers into each end of the lower door cover.
   (8-32 x 1/2'' screws)

LOWER TRIM CAP ASSEMBLY

left end cap
right end cap

STOPPER ASSEMBLY

B- Insert the cap and screw into place.A- Lower door cover.



Installation Guideuni-t - SYSTEMS

15LW584-A-REV.05-2018

Use left or right bracket depending on 
the configuration of the workstation.

WING NUT

BOLT

47 SERIES 45 SERIES

Step 1

• Install bracket to the back of the metal pedestal with the bolts, ring 
  and the wing nuts. Do not over tighten. 

Step 2

• Remove drawers to access the back of the metal pedestal.

• Place the pedestal close to the panel and insert the hooks of the 
  bracket in the panel connector. Adjust pedestal height.

• Tighten the wing nuts inside the pedestal.

• Replace drawers.

ATTACH A PANEL TO A SUPPORT PEDESTAL

RING

Hooks 
towards BOTTOM

Hooks 
towards TOP

BRACKETS

Use LOWER holes

SUPPORT PEDESTAL - METAL                                                                                                           Price List p.112.




